AL

|€”m\ﬁ]

\ase/

Rk 29 410 H 2 H

= # 4 KXt NTF7 4T 4 X
R xR F RRMAMmEEAEE wmH B

(72— F4840 JASDAQZu—=)
&8k PUITRAEREBE /A £k
H 03 (3221) 0211

H e O BFRRIUC T 2 m b

(SALIEZS 165 2155 2 THOBUEIZ L 2 ERDEDIZEES < H CRAD BT

WA, A 29 423 A 1 HEBMEO RIS I W TIRGE L E Lo, A 165 58 3THOHE
BE

WXV HEAREZ T S D RVESE 156 520

WZHES < HEHRROBISRIICHOWT, Tt BB

EEaRLSGi Y =

50, 400 £k

18, 378,900 M

R 294E9 H 1 B2 DR 29 429 H 30 H (RIER—R)
HRCGEELS | BT 2 360 % s E At

1. 29 47 3 A 1 H B D BRI Be = DR

MW LET,

(1) BE Lo fEE
(2)  BE LMok
(3)  HRABSEED KA
4)  BUSHIE

(5) BEHIE

(%)

(1) BET 28R
2) BET 50k
(3) A OBUSIEEDOKRKE

(4)

A5G4~ % M

RSl =2V

30 TkkEE BIRET 5,

Gt (B OB 2R Ioxk3 284G 3.54%)
185 T % EREST S,

Rk 294E3 H 2 HO DR 30 423 A 1 H

2. LREHERIRSIGEICHES S IE LA SO REH (R 29 429 A 30 A H{E)

(1)
(2)

HUAFHR D R
Al D 78R

161, 300 k&

56, 245, 500 [

Uk



